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W T
= 1 91, 468, 463
e L
= 1 80, 372, 712
E¥LT
= 1 756, 491
TR D +w 370m3
(1)
= 1 116, 180
TR D +w 540m3
(2)
= 1 278, 208
MR L +wh 480m3
= 1 239, 472
FEiE IR 150m2
= 1 73, 920
B 1 s Ao ALEL 390m3
= 1 48, 711
LTI L
= 1 39, 228, 869
ST HTHL Bt 1200mm #HiE GREHE) 12.
5m
VN 21 1, 852, 538 38,903, 298
FEIA (270 - bk
m3 38 1, 259 47, 842
PRauRiiig av)Y)=hik (IE57)
m3 38 1,511 57,418
ALy av7Y)=hik (JE57)
m3 38 4,713 179, 094
B s Ao ALE 330m3
= 1 41, 217
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= 1 40, 223, 888
R FAITyv4T740~0 17. bem& #8 2.2
0. 0cmPd T
m2 150 1,394 209, 100
¥jLavy)-h 18-8-25(20) (#%7) W/CHREZ L
HE 10cm
m2 150 2, 475 371, 250
VIR 24-12-25(20) (F%7) W/C55%LA T
B v - M R A
m3 784 20, 740 16, 260, 160
AR SD345 D13
(1)
t 0.81 154, 530 125, 169
AR SD345 D16~25
(2)
t 20. 64 152, 615 3,149, 973
AR SD345 D29~32
(3)
t 28.97 153, 527 4, 447, 677
AR SD345 D38
(4)
t 15. 55 157, 356 2, 446, 885
HEAR Bk E A D13 L=<1m
(1)
T 60 266. 15,972
HER R E A D16 Im<L=2m
(2)
T 84 307. 25, 804
FER R E A D16 2m<L=3m
(3)
T 81 366. 29, 678
FER R E A D19 2m<L=3m
(4)
T 254 434. 110, 439
FER R E A5 D22 Im<L=2m
(5)
T 648 446. 289, 461
L Evias D29 X 29
(1)
T 32 2,569 82, 208
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kT D32 X 32
(2)
AT 92 3, 097 284, 924
Tl — T 750m2
= 1 7, 356, 750
ACERFE PRI ¢ 200 12m
= 1 9,538
X f=<40kN/m2 [t = 120cm] 802m3
(1)
= 1 300, 720
AR 40kN/m2<f =80kN/m2[120<t = 250c 507m3
m]
(2)
= 1 311, 000
s LRF Y LT 7804Hm2
= 1 4, 057, 560
s lZ2) K UIVESR 2R8I
m 20 3,122 62, 440
KN AT VP ¢ 100 74Vh—1E
m 30 1,194 35, 820
) - R iR REFIZH V7/%)
m2 140 1,724 241, 360
St L
= 1 163, 464
AR 600X 400X 13
bi'e 1 163, 464 163, 464
Bkt 1
= 1 301, 404
E¥LT
= 1 84, 174
TR Y +w 20m3
= 1 43, 920
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ML +wh 10m3
= 1 39, 630
B 1 s AT o ALE 5m3
= 1 624
18T
= 1 217, 230
7" VR AN 300X 300 X 600 FFFH
m 30 7,241 217, 230
Gan
= 1 10, 794, 347
THHER T
= 1 423, 342
AR 25X 1,524 6,096 (mm) FR7E - i 174m2
= 1 423, 342
- F - B T
= 1 8, 450, 791
SRR TITA SEHIRRARE & 9. 56m
FATIAR 9m IR 1k
£ 9m
e 164 34, 479 5, 654, 556
HEATL H300 HIIR & (FLR) 7Tm HEAFLY
AR 6.5m HRIBHEHI5HE 6
.bm
ZN 4 86, 591 346, 364
D) EkL L
t 31.7 77, 283 2,449, 871
RmE T
= 1 1, 920, 214
AW B AWk E A BB 118AH
= 1 1, 920, 214
B TR
= 1 91, 468, 463
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I L
= 1 21, 196, 516
B3 TS
= 1 11,912, 854
TR
= 1 10, 960, 899
TR B oy MR ST A Al
= 1 8, 956, 368
IR TR 159. 8t
= 1 2,004, 531
et By
= 1 57, 595
B R AT I ERE T H
= 1 57, 595
BIGREsET (K30
= 1 894, 360
HIBGERE (FE L)
= 1 9, 283, 662
Wi
= 1 112, 664, 979
B
= 1 33, 304, 671
T AT
= 1 145, 969, 650
— R
= 1 23, 530, 350
TS
= 1 169, 500, 000
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THEBLF Y %H
= 1 16, 950, 000
TH#EG
= 1 186, 450, 000
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